
08-06-2025

Flip for Leckey Seat Frame 

Flip for Leckey and Flip for x:panda are not eligible to be converted into another seating format
 

Item Number Part Number Description Quantity
1 - 4, 5a, 10 -
12, 13a, 14 -
17

111260 15" Wide Flip Seat Frame Kit for Mygo 1

1 - 4, 5b, 10 -
12, 13b, 14 -
17

111261 14" Wide Flip Seat Frame Kit for Squiggles 1

1 - 4, 5a, 10 -
12, 13b, 14 -
17

111262 15" Wide Flip Seat Frame Kit for Squiggles 1

1 - 4, 5a, 10 -
12, 13a, 14 -
20, 21b, 22, 23

111263 15" Wide Flip Seat Frame Retrofit Kit for Mygo 1

1 - 4, 5b, 10 -
12, 13b, 14 -
20, 21a, 22, 23

111264 14" Wide Flip Seat Frame Retrofit Kit for
Squiggles 1

1 - 4, 5a, 10 -
12, 13b, 14 -
20, 21b, 22, 23

111265 15" Wide Flip Seat Frame Retrofit Kit for
Squiggles 1



08-06-2025

Item Number Part Number Description Quantity

1 102864 M8 x 25mm SHCS, BLK ZC 8

2 101858 Washer Flat M8 Blk Zn 8

3 100659 M8 Nylock Nut Blk Zn 8

4 100804 Tube End Plug 1" 2

5a, 4, 10 111256 Flip Seat Tube with Tube End Plugs for 15" Wide
Mygo/Squiggles 2

5b, 4, 10 111257 Flip Seat Tube with Tube End Plugs for 14" Wide
Squiggles 2

6 101592 M6 x 45 CLS10.9 DIN7991 FHCS BLKZC 2

7 001878 Tilt Yoke 2

8 003079 M6 Conical Washer 2

9 100558 M6 Nyl Ins Domed Cap L/N Zc 2

10 001028 Tube Plug 1" x .824" 2

11 001205 Seat Pan/Base Clamp TILT 4

12 001204 Seat Pan/Base Bracket TILT 4

13a 004575 Mounting Bar, Mygo, Flip 2

13b 004576 Mounting Bar, Squiggles, Flip 2

14 101834 M8 Hi-Collar Lockwasher Blk Zn 4

15 101850 M8 x 20 SHCS Blk Zn 4

13a, 14, 15 111258 Mounting Bar with Hardware Flip, Mygo 2

13b, 14, 15 111259 Mounting Bar with Hardware Flip, Squiggles 2

18 100797 M6 x 40 BHCS BLK ZC 2

19 001867 Mechlock Mount 2

20 100658 M6 Nylock Nut Blk Zn 2

21a 001883 Strut Tube Seat 14 Wide 1

21b 001884 Strut Tube Seat 15 Wide 1

22 001156 Pivot Bushing Tilt 4

23 102802 M6 x 30, FHCS, Blk Zn w/Patch 4


